1 1vy2 2 197.80
=Y Y - = 1.03 1.05
y w w 192.25
ouT
S = 1.05
KN/m?
:y X
y (KN/m®) (m) (kKN/m?)
1 16.00 3.207 51.31
2 18.00 0.631 11.36
3 18.00 0.536 9.65
4 19.00 6.604 125.48
5 0.00
6 0.00
7 0.00
8 0.00
9 0.00
197.80
KN/m?
= 10.00 x 19.225 = 192.25 (kN/m)
yi1l y?2 kN/m®
1 2 m
yw kN/m® = 10.00 (kN/m°)
w m = 19.225 (m)



1 1 2 2
sl S2 s3
1.251.93 1,288.03  406.70 x 1.036  406.70 x 5.568 _
1.20 6 3
0.K
kN/m
_yw w
2
_ 10.00 x 19.225 x 13.024 _ ;551 93 (l/m)
2
yw kN/m® = 10.00 (knN/m®)
m = 19.225 (m)
m = 13.024 (m)
kN/m
=y /2
y_(kN/m) (m) (kN/m)
1 16.00 3.207 334.14
2 18.00 0.631 73.96
3 18.00 0.536 62.83
4 19.00 6.604 817.10
5 0.00
6 0.00
7 0.00
8 0.00
9 0.00
1,288.03
y kN/m®
m
1 1 kN/m?
1= = 406.70 (kN/m)
1= 1.036 (m)
2 2
2 = = 406.70 (KN/m)
2 = 5.568 (m)
sl = 1.20
s2 = 6
s3 = 3

1,851.24

KN/m?



